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def function name(arguments) :

function block

return[expression]
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(2) function_name J& i J* B € X RE AR,

(3) arguments EEF ML N SHL, EEH%/\?{‘%ﬁZ‘@ﬁﬂlﬁ.ﬁ%W ﬁﬂ%ﬁg
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(1) FJFAER—AE 5 CoO L RBUA N E 506 . 9 B 46 iF

(5) function_block J& 55 FH bR B ) BE (18 A B,

(6) 7E R, AT LU return 1540 3R 1] pR BOACHS A P07 25 5 L 3R WIE AT LA — 4>
A, WREA return HHA], W BRIAIR [l None (%X 40) .

(7) WERAE L —A>25 R 7T LI pass WHA1E 2 5 ALAF
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function name (arguments)
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return [value]

SR
value: FJPEZH, 48 € BIR WA (E 7] LUR [0 — s 2 AME . R R 8] — A,

M4 value W ORAFE B AT LIOWAE B8 . RO M 248 I8 A TE value HPORAFAY 2 —A>
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MREP A return HAIET L BCE E B T return 15 A) 19 S F0ET K AR 5] None, B iR
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(61 5-1 A SLREAFRA fun_areaO) W SR, T3 F 53 560 04 10 B, 3% oA 8000 46
PSS 580, 50 0 SR R TR (0 4 RS L 3R AT R 66 TR 1 1T AR
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# 1SR TR T FR 1Y BR AL
def fun area(width, height):
if str(width) .isdigit() and str(height) .isdigit(): #RIFEIEEE G
area = width * height #11 BB B T AR
else:
area =0
return area # 3R 1] AR 04 T AR
w=20 R K
h =15 FHIE 58
area = fun_area(w,h) #9811 8 £
print(area)
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def fun bmi (person, height,weight):
print (person+ "M EHEH N :"+str (height) + "m {KHE : "+ str (weight) + "kg")
bmi = weight/(height ¥ height)
print (person+"f BMI 8% : "+str (bmi))
# HI W7 B B A IR
if bmi < 18.5:
print ("RAQRE SRR
if bmi >= 18.5 and bmi < 24.9:
print ("IEW W, EEEREE."
if bmi >= 24.9 and bmi < 29.9:
print ("fREAELE "
if bmi >= 29.9:
print ("HEFEL™)
# BRBUE XL
fun bmi ("RIGE", 1.78, 75)
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SIARE ) BMI 18800 : 23.671253629592222
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def LK (-, IESH=8INH) :
ERQUN
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#5E SCPR &L
def user info(name, age, gender= vy s
print ("4 FIE (name ), F L JE {age}, Ml {gender}™)
#95 JH RR £
user info('Tom', 20)

user info('Jack', 18, B
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def get score (**names) :

result = []
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for name in names:
score = std sc.get (name, -1)
result.append((name, score))

return result

std sc = {'Merry': 95, 'Jack': 76, 'Rose': 88, 'Xinyi': 65}
print(get score('Merry'))
print(get_score('Jack', 'Rose'))

print(get score('Merry', 'Xinyi', 'Jack'))
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[("Merry', 95)]
[("Jack', 76), ('Rose', 88)]
[('Merry', 95), ('Xinyi', 65), ('Jack', 76)]
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schoolname= [ 'HFAER Y, HLHARE ", TR EAR AR ']

printschool ( * schoolname)
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def user info(name, age, gender) :
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print ("M & FIE (name}, {FIRJE {age}, MIJE {gender} ™)
# PREOR

user_info('Tom', age=20, gender= e

user _info('Jack',gender= o age=18)
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def my add(x, y):
print("x="+ str(x) + ";" + "y="+ str(y))
s=x+y

return s
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(2) TE PR E L1 global CHEF MG %748 T i A8 S & R A8 1 . 78 oR 5K
PR A 7T L7 1) B 48 B, 5 FLAE SRR 36 1T DA AT B ek

(51 5-71 4 )78 it pg M 7= 6], Horb global _num J& 42 R 28 i, my_add O pRECN 7
E XK local num 2R,

STHAHIT
def my add() :
local num = 3 # Jry BB AR dik
return global num + local num
global num= 5 # &R i
print (my add()) #%%:8
print(global num) gE .5
print(local num) #iﬂi%ﬁ local num 8 A E X

>4 pR RPN Y SR S A R 4 SR AR o EE 4 B R AR AR B 23 AE [ O R AR FH 0PN B R R
[F] 24 1) 4 Jmy 728 o, BV RAT Jmy A8 1B A H

[ 5-81 global JCHE 1 FH7n 19, 76 R EL N A H global SCHEF A B T 2 A8 & x &
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def my add() :
global x # 75 0 4 JRy AF
print (x) #4505
x =3 HEBE R

return x + x

x =05
print(my_add()) #4EH 6
print(x) #EER 3

i3 global S8 F] LLAE oA B A 5 SCEH (] 4 Jm A8 . SR B AE R RO B il —
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def fn(num) :
if num==1:
result=1
else:
result=fn(num-1) * num
return result
n=int (input ("IEHA —NIEELH: "))

print("$d! ="%n, fn(n))
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200 | fn(4)=4*fn(3) | | fn(4)=4*3%2%1
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F3REH | fn(3)=3*fn(2) | | fn(3)=3*2*1 }_?
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#1HE 3z
def sum num(a, b, c):

returna + b + ¢

#3R 3B YME
def average num(a, b, c):
sumResult = sum num(a, b, c)

return sumResult / 3

result = average num(l, 2, 3)

print(result)
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